ma-th A“.tics® Name:

Work sheets Date:
Estimating Circumference and Area R
( 1\
Instructions: A good way to quickly estimate the circumference and area of a circle is to round PI off
to the whole number ‘3’ (instead of using 3.14). Use Pl = 3 to estimate the circumference and area of
each of the circles below.
(1] 8 |
r=5m r=1in
so so
d=10m d=2in
C=mxd A=T X2 C=mxd A=zTXxr?
C=3x10 A=3x(Bx5H) C=3x2 A=3x(1x1)
8 a
r=2cm r=4ft
S0 so
d=4cm d=8ft
C=mxd A=TmXxr? C=mxd A=zTXxr?
C=3x4 A=3x(2x2) C=3x8 A=3x(4x4)
A= 48 17
(5 6
r=10m r=6yd
so so
d=20m d=12yd
C=mnxd A=Txr? C=mxd A=Txr?
C=3x20 A =3 x (10 x 10) C=3x12 A=3x(6x6)
A= 108 yd"
. J
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Calculating Circumference G-cca 2
Ve N\

Instructions: Use the formula you learned in the video to calculate the circumference of each circle
below. Use Pl =3.14 and round your answers to two decimal places. You can use a calculator.
(Note: Sometimes the problem gives you the radius, but sometimes it gives you the diameter.)

Gl
C=mxd

C=314x6m
C=18.84m

()

d=3x2=6m

C=mxd
C=3.14 x4 km

4 km

;

C=mxd
C=314x10cm

@ @

;

d=5x2=10cm

C=mxd
C=314x32m

3.2m

(B

:

-

(2]
C=mxd

C=314x2in

()

:

d=1x2=2in

C=mtxd
C=314 x 14 f+

()

@

d=7x2=14ft

C=mtxd
C=314x5Hin

5in

:

C=mxd
C=314x08yd

ORG

:

d=04x2=08yd
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Calculating Area

-

Worksheets Date:

G-CCA 3

Instructions: Use the formula you learned in the video to calculate the area of each circle below.
Use Pl =3.14 and round your answers to two decimal places. You can use a calculator.
(Note: Sometimes the problem gives you the radius, but sometimes it gives you the diameter.)

(2]
n/—\ A=TXr? A= T X r?
om A=314x (3 x 3) A =314 x (5 x 5)

r:%:3m
&l A=TXr? @l . A=TXr?
A=314x(9x9) U A=3.14 x (2.5)
r:%:2.5in
=l . A=T X2 ©l A=T X2
\"‘/ A = 3.14 x (0.5)? A =314 x (1.3)%
r:%:o.5km

A=T X2 nm A=T X2
A =3.14 x (2.3)?

A = 3.14 x (5.5)

v A= 9499 y&

11
r=3 =55yd

N

J

@3 circles: Circumference & Area * mathantics.com © 2014 Math Plus Motion, LLC



ma-th A“-tics® Name:

Worksheets Date:

Calculating Circumference and Area G-CCA 4
h

Instructions: For the following problems, use Pl =3.14 You may use a calculator. If necessary,
round your answers to two decimal places.

n A circle has a radius of 1.5 meters. a A circle has a diameter of 26 feet.
Find its circumference and area. Find its circumference and area.
d=15x2=3m r=26+2=13 ft
C=nxd C=mxd
€=314x3:=0Q42m C = 3.14 x 26 =(81.64 1
Az-TxXr? Az-TxXr?

A=z314x(15x 15)= A= 314 x (13 x 13) =(530.66 £

a A circle has a diameter of 40 miles. n A circle has a radius of 3.5 centimeters.
Find its circumference and area. Find its circumference and area.
r=40+2=20mi d=35x2=7cm
C=mxd C=mxd
C = 3.14 x 40 =(125.6 mD C:3.14x7:
Az-TXr? Az-TXr?

A = 3.14 x (20 x 20) = A= 314 x (3.5 x 3.5) :

B A circle has a diameter of 16 inches. B A circle has a radius of 0.3 meters.
Find its circumference and area. Find its circumference and area.
r=16+2=8in d=03x2=06m
C=mxd C=mxd
C=3.14x 16 =(50.24 in) C=314x06=188 m
A=TxXr? A=TtxXr?

(&

A=314x(8x8)=(20096 i) A=3.14x(0.3x0.3)=(0.28 m)
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Circumference and Area - Word Problems e
h

S
Instructions: For the following problems, use Pl =3.14. You may use a calculator. If necessary,
round your answers to two decimal places.

n A bicycle tire has a radius of 14 inches. E A round table top has a diameter of 2.6
What is the circumference of the tire? meters. What is its surface area?
C=nxd o 26m

> ArTxr

C=314x28in I A=3.14 x (1.3)?

d=14x2=28in r=28 =13m
n A Ferris-Wheel at an amusement park n A DVD disc has a diameter of 12 centi-

has a diameter of 40 feet. How far meters. What is the surface area of one
would you travel in one revolution? (In side of the disc?
other words, find the circumference.)

C=mxd 2 ct Az=TIXre
C=3.14 x 40 ft v A=3.14 x (6 x 6)
r:12—2:6cm

40 ft

A
Y

Which has the greatest surface area: two pizzas that have 14 inch diameters or one
pizza that has a 20 inch diameter?

A=TXr?

A=314x(7x7) A=T X

A = 153.86 in? A = 3.14 x (10 x 10)
2xA=30772in? A = 314 in?

The 20 inch diameter pizza has a little more surface area
than the two 14 inch diameter pizzas combined.

(&

J
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